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HRT -1/ PART -1

[3]

[A]

919 fae Td {31eemes / CHILD DEVELOPMENT & PEDAGOGY
[Adsr : [=itee gedl % G737 % [ qa] S [A%e g

Direction : Answer the following questions by selecting the most appropriate option.

1.

frifed & & PM-8 Hebeaw

ey 2@ W § Hafad 7 7

(1) g afH

(2) FeoTeRs St

(3) e famE

(4) Srgdfea ergfpan

BEE & TN f9eE & fasia @
IR STaEr F AY-fER, REEE &
WM b @l il § 8 |
YT & TG § ¢

(1) fqeama s Sfaead

(2) @A I9M 9 Td Hee

(3) UBH I MUY g

(4) EEH S 4fFER 39 (Role Confusion)
fepeTYl 1 78 Hegd HTN A@H A AR
3@ W H A A EE B

(1) AR e

(2) FIEHE 39

(3) UARRTET Tt

4) gt FarEr

AIHgFT  FeR a9 (Applied
Behaviour Analysis or ABA) F=ifd #
A for Rresia ox omefa & °

(1) e Fgdes

(2) fopan oa ergee

(3) dAmdfte s
(4) FRIeTomeTs oIt

a1 AN B g8 HEA
?‘Fﬁ T g | e #
(1) AR s

(2) FAMSH I3

(3) o 3T

(4) SArcIEHEA

5 3
N AT ST

Level-3/3313

1.

Which of the following concept is
derived from famous 'Bobo Doll'
experiment ?

(1) Insightful learning

(2) Observational learning

(3) Moral development

(4) Conditioned response

The age range of Genital Stage of
Freud's theory of Psycho-sexual
development is similar to which of the
following stage of Erikson's theory of
Psycho-social development ?

(1) Trust vs mistrust

(2) Autonomy vs shame & doubt

(3) Initiative vs guilt

(4) Identity vs role confusion

The feeling of adolescents, "Everyone is
looking at me", can be termed as :

(1) Personal fable

(2) Imaginary audience

(3) Anorexia Nervosa

(4) Bulimia Nervosa

Applied Behaviour Analysis is based on
principles of :

(1) Classical conditioning

(2) Operant conditioning

(3) Insightful learning

(4) Observational learning

"Young teen-agers often believe that
they are completely unlike any one
else.' This phenomenon is known as :
(1) Personal fable

(2) Imaginary Audience

(3) Self realization

(4) Self disclosure

P.T.O.



[A]

FeoTes Aftrm & 9] 9l B ger

AL 7

(1) S@gM — SR — 9RO &
— Yo

(2) SEYH — gROT BT — JASAEA
— 3TN

(3) SIY — TTHCURT — RO BTl
— TR

(4) @I — GO HET —  SAEROT
— &

freifed & @ @9-a1 ®o9 e &

e o & frsid @ d@ed # @

& 27

(1) 98 39 HgaT W oeid ® %
foepra U STEAd iR 2|

(2) T8 9 AT W T ® 6 o=
e Ug STHETR e R HiEd
2

(3) ¥ 39 THEAT W omHid ? %
foepra w | ufsEAr |

(4) 98 39 THEaT W omEiRg ? %
SIS faeprd = a<on | 2 2 |

Sie 9 (&) @ HeheqaT, T W ©

(1) =T AT &l

(2) fopam 9ga STee &

(3) Sidefte ST

(4) e & fo=ia &

TR Gee U a8 § F qey § 7

(1) a9 FEl PR 1§36 a9 2 |

(2) 3 TR STFRAT BT HHOIX B ¢ |

(3) TERHE YAda fREl AR @l
3% ST & SEih 42 R TR
I HHEMT S 2 |

(4) THEIHEF QT R e @l

HIIX 9T 2 S| &g Rl

SR BT g3 I ¢ |
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[4]

What is the correct sequence of four

elements of observational learning ?

(1) Attention —  Motivation —
Retention — Reproduction

(2) Attention —
Reproduction — Motivation

Retention -

(3) Attention — Reproduction —
Retention — Motivation

(4) Attention —  Retention —
Motivation — Reproduction

Which of the following statement is not

true about the theory of cognitive

development given by Jean Piaget ?

(1) It believes that development is a
discontinuous process.

(2) It assumes that children learn
through assimilation and
accommodation.

(3) It believes that development is a
continuous process.

4 It
development takes place in four
different stages.

believes that  cognitive

The concept of 'Life Space' is a part of :

(1) Classical conditioning

(2) Operant conditioning

(3) Insightful learning

(4) Lewin's field theory

What is the relationship between negative

reinforcement and punishment ?

(1) Both tend to strengthen a response

(2) Both tend to weaken a response

(3) Negative reinforcement strengthens
a response whereas punishment
weakens a response.

(4) Negative reinforcement weakens a
response  whereas  punishment
strengthens a response.



11.

12.

13.

14.

(2) TH I X SEA B

(3) oTafas &9 § d9-9rd & g T
(4) Ufoay da-gls e

frfafag & & @9-ar foeer efffesy
W fegaiEy & fauar 78 & ?

(1) 3= AR G & F=en

(2) AT ST=fhar § T

(3) fees AR AN TR § qHEn
(4) STTATHE /AN FTEN

e ¥ ST99T HiEed WeX deddy 91 A6
foram | St Rl 3 SER T AR g8 9
e B % O 3k & AT H Ul

TEHT HIOT FiRT § 9 B Tl B -

(1) &R

(2) JEdERR e

(3) &u

(4) ULFEA

fr=rifhd ® @ $9-91 FHE A &

gﬁ;ﬁ—ﬁ@ﬁ%%@ﬁ%ﬁﬁﬁﬂﬁﬂ@?

(1) 5= S & @d, o1 gemar &,
T X T ¢, 3¢ B 8¢ d a5

(2) Texs e &1 o=, 39 fosid @
TH G B |

(3) T 9% & SIS [dpre § AT
& T & IUET BT B |

(4) 98 99T faem § 99N U9

TG B R W Td T © |
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10.

11.

12,

13.

14.

[A]

If one activity occurs more often than
another, it can be used to reinforce the
activity that occurs less often. This
principle is known as :

(1) Premack's principle
(2) Thorndike's principle
(3) Skinner's principle
(4) Pavlov's principle

Which of the following is not an
example of fixed interval schedule of
reinforcement ?

(1) Getting salary every month

(2) Dialing a busy number

(3) Having a periodic dental checkups
(4) Getting increment every year
Which of the following option is not a

characteristic of Autism Spectrum
Disorder ?
(1) Problem in vision and hearing

Problem in social interaction

Problem in verbal and nonverbal
communication

Repetitive behaviour

2)
3)

“)

Kim changed her mobile number; and
got a new number. When some-one
asked her new number she could recall
only three digits of her new mobile
number. The cause behind it may be :

(1) Decay

(2) Proactive Interference

(3) Suppression

(4) Regression

Which of the following is not true about

the socio-cultural theory of Vygotsky ?

(1) Children learn very little from
performing tasks they can already
do independently.

(2) Concept of Zone of Proximal
Development (ZPD) is a part of it.

(3) It ignores the importance of
language in cognitive development.

(4) It emphasizes role of socio-cultural
environment in cognitive
development.

P.T.O.
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15.

16.

17.

18.

19.

& & AR & AFAR, Mg § A

T IS & & U S0 787 & ¢

(1) TN (2) faserser

(3) deawor (4) SR

qRask & W-hed dHiedd @ AN [+Fihd

T q H-a1 Y T J@7 e ® ?

(1) AN aREEs

(2) fia

(3) T TN

(4) e ug qur

fPX el & fRarew & dew #

gwm ¥ q 9T FUH G9E T8
,

(1) I 9FFT OF & 06 TR 2|

) famEas & W fReR S gfE
W HI & a8 3% H e 2 |

(3) HH AN % SO SRIG R
e B 2|

(4) 39 IN® & S99 qWRE ha
T B 2|

U AR T HegH HYT © b AT T
S 9T TEq 9 B 9 T2 R 7
7€ Hdd B ¢

(1) HIEF &3F H

(2) AR Hu® A

(3) SH-YR= /9B

(4) UM Ghe A

gl ‘TH B F B8 ud gEl e H
e ToW foeifed ¥ 9 R meR &
35 % gaay e § 7

(1) SUFM - 9REN B8 &l

(2) UER - URER &8 &

(3) JUFH - IUFH &35 Bl

(4) &9 SUFM - UER B8 &I
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15.

16.

17.

18.

19.

As classified by Bloom, which one of
the following is not a subdomain of
cognitive domain ?
(1) Application

(3) Synthesis

(2) Analysis

(4) Responding
Which of the following is not controlled
by pre-frontal cortex of brain ?

(1) Body Movement

(2) Thinking

(3) Problem solving

(4) Vision & Hearing

Which of the following is not true about
Day Dreaming among adolescents ?

€]
2)

It is a form of active play.

The roles adolescents adopt in day
dreaming are heroic.

(3) It involves more physical activity
than mental.

“)

It involves more mental activity
than physical.

A teenager feels that no one has ever
been as deeply in love as he is. It
indicates :

(1) Imaginary Audience

(2) Personal fable

(3) Self identity

(4) Identity crisis

The phrase, 'six on one hand, and half a
dozen on other' best describes which of
the following type of conflict ?

(1
(2
(3)
4)

Approach - Avoidance conflict
Avoidance - Avoidance conflict
Approach - Approach conflict
Double
conflict

Approach - Avoidance



20.

21.

22,

23.

24.

SEASR & ‘TRRfa@E = & R
% AR F=Ied § § -9 d% &
‘Teq & ¥ Hfed 78 © 7

(1) fomme (2) 99

(3) @rgd (4) qfq Ram

TR & 899 4 g § 8 $E-a

Fo TE & 2 7

(1) 72 Read 1 0% TR 2 |

(2) T8 98T IR ¥ gha &Xar 2|

(3) & TF SieH U ¢ |

4) T8 AN F 3T B & QR
T 2

GEEIR F FEg e @

g

(1) o wd |Eae g/

(2) I Td Fed N

(3) e wd gae EN

(4) aTET TF T &

“foepr & 39 O H d= oTONl o,

HM, B UG Y Hdal HW & BN

fefqe & g1

I8 FoE [ifed § 9 fR9 G

frepra @l eTaeen @ Tay AR § 7

(1) Gadl e STaeeT

(2) Y4 SR ST

(3) HoI HRRATHE A

(4) Sfvenies GfpaTcs STaw

=g § 9 fhe d@-otemad @
GRS AT 1T B 7

(1) 31@he foo

(2) FEER wEE

(3) Sito ©d &

(4) dlo Tho R&HX

Level-3/3313
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20.

21.

22,

23.

24,

[A]
According to Ecological systems theory
which of the
following does not belong to Macro
system of the child ?
(1) School (2) Values
(3) Laws (4) Customs
Which of the following is not true about

of Bronfenbrenner,

areward ?
ey
2)
3)
4) It is

response.

It is a type of bribe.

It increases desirable behaviour.
It is a pleasant stimulus.

given to strengthen the
The 'investment theory of creativity' is
given by :

(1) Binet and Simons

(2) Carrol and Cattle

(3) Sternberg and Lubart

(4) Watson and Ryner

"At this stage of development, children
think with their eyes, ears, hands and
other sense organs."

The above statement best describes
which of the following stage of
cognitive development ?

(1) Sensori motor stage

(2) Pre-operational stage

(3) Concrete operational stage

(4) Formal operational stage

Which of the following is the founder of
Child Study Movement ?

(1) Alfred Binet

(2) Theodore Simon

(3) G. Stanley Hall

(4) B.F. Skinner

P.T.O.
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25.

26.

27.

28.

29.

30.

freifed & @ @9-T fRONEeEr &
auRe fide &1 e 787 8, 9 %
Tdfhrs R 9/ T 8 ?

(1) aTestars

(2) aE-fgare @i ggii

(3) gfserar /s

(4) fafersear %1 ygfd

Frifed & & -9l e Zeee
Awais 78 & ?

(1) Toe qHE

(2) ufEeT

(3) @9

(4) W&

dFe® BN Ry ™ i
Rrgid & ®F-a1 M Qe @bl
HHAT & T ©

(1) I9AT FT 139

(2) AR &

(3) 99 & FIH

(4) T (o) &1 frem

AT uh el T e ©

(1) 3fte qriaer g s=ai & foe

(2) A AT g el & ol

(3) A HABRHOT gl & forg

(4) AT HeHal Ja F=al & AU

¥ gfE # MEaied § 8 S

Hebhad ddrad © 7

(1) & qae 3 103 & 91 BT

(2) WA G Flad e B

(3) S IS U HEAT

(4) TS & ULEq HEE T dl T
BT

UF S BT BT oY Geuel @l
3% Ul YRR ARGl & 99T 39 Igd =Y
T 3T G & A 2| TE FaRIT B
(1) fopam gga STse &

(2) I AT

(3) MOEeTHS I #

(4) dAmfte AR @

[8]

25.

26.

27.

28.

29.

30.

Which of the following is not a form of

immaturity ~ of  thinking  during

adolescence as proposed by Elkind ?

(1) Idealism

(2) Argumentativeness

(3) Assertiveness

(4) Specialness

Which of the following is not a

democratic teaching strategy ?

(1) Problem solving

(2) Project

(3) Discovery

(4) Demonstration

Which law of "Trial and Error' given by

Thorndike is similar to the concept of

'reinforcement’ ?

(1) Law of Use

(2) Law of Disuse

(3) Law of Effect

(4) Law of Readiness

'Modelling' is an effective teaching

method for :

(1) Children with visual impairment

(2) Children with learning disability

(3) Acid Attack Victims

(4) Children with intellectual disability

Which of the following is best indicator

of high intelligence ?

(1) Scoring 103 on an IQ test

(2) Reciting poem from memory

(3) Earning high grades

(4) Not making the same mistakes after
receiving feedback

A child angrily hits a playmate in the

same way that he has been punished at

home. It is an example of :

(1) Operant conditioning

(2) Classical conditioning

(3) Observational learning

(4) Insightful learning

Level-3/3313
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[A]

A (R= @d $i3sh) / LANGUAGES (HINDI & ENGLISH)

[ &1 / HINDI ]

@1 : =i go7] % e @7 @ [T qa8 SfEd [dweq giae

31.

32.

33.

34.

il gfte & ofgeE 9= BifeT
(1) wemEE
(2) @¥fhd
(3) AT
(4) Prar

qfv #1 3fte ¥ org7T faebed gie
(1) @F + 9% = qER
(2) fasg + = = fasa=

(3) TEE + O = TEAAR
(4) 9T + 197 = A

yod St | g faehed e
(1) M1 + =g

(2) 39X + T =Ty

(3) WM + 7 = Afmg

4) fafire + 7 =3

T ogfe § - e o
g7

(1) 9d &1 9oiid = 9 Joiid

(2) 9aT H T Tl el = Y]
(3) @8 Sl =g A AT B = =LA

(4) FHMER % 0 0 = FHERYE

Level-3/3313

35.

36.

37.

38.

Uhae 8 Sgaee a4 9= H o7FTT
Bifeu

(1) sl

(2) Tt

(3) gt

(4) et

e fasbed d ‘o AYET WHM A
R BT B 7

(1) "
(3) Tderd

(2) fefqea

(4) FHSH

FR T FE 29 W & - a9 F 9P
A T
(1) Fyggam=s (2) ANYEIaES
(4) JoHarEh
9w @ § e @ BHE-HE-a
g7

(1) i o) q==

(2) i, g SR FR®

(3) ff oiR #R®

(4) I, aeF Ud gey

(3) u9arEH

P.T.O.
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39. 59 9= ¥ ‘qUivy o A’ &l GINT

40.

41,

42,

TET & 8 7

(1) =M

(2) =B~

(3) THHD

(4) HIT=BrET

TE AR g d Al B B - I
e faQer @ e @ feg sraem @
ara® & 7

(2) ITEE

4) &0 @ B T

(1) etz
(3) I
=1 4 @ fpm foeed & ST aes
e B 7

2 g

(4) g

(1) &g
(3) T

FROBRE P qH G

(1) & G 9 | 2l 2 |

(2) 3 fomr Em M R

(3) afer TS | Feereh Fre 2 |

(4) 39 @Edl B | UF == H 6
goe | T |

[10]

43.

44,

45.

qu-fax @ e | oI faeed

g -

() @ & ©F § I=d & qa9 @1
% I 4 M @Y S@ & ofER
W dH @ #Ead & Se
- ®=&M & S=Ra @
feme =X & am @ M =
FYHRT @ FEA ¢ |

2) FTER @S H TP §; TEE
T @R A T 2 |

(3) o1 @ & I=RT ¥ gar T 9
T g @A g@ A4 e o
S B9 @ & SERe {4y
g & re-qry A § e
g 3% ‘TRIAIa® @ el S 8 |

(4) =8 qoimen § 9 ¥ § & aof o
g e T 8 F F omfe v wmyt
et 2 |

BAAHY SR UH-gE H THH o
Siiad e Bl ST - I e fhd
FT q Gae 8 °

(1) BYegHe s (2) Hred i
(3) 9Mg Aia=q (4) |y aaHe

‘RIS H JETTRA bl gie | H
4 @87 (STRIE) %A are e &

(1) foretea, op¥, aRife], &1o1

(2) &I, ¥, Fdifd, forree

(3) ¥, Fdifd, foase, &

(4) aFAif, ¥, foase, afor

Level-3/3313
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[A]

[ 3T3STl / ENGLISH ]

Direction : Answer the following questions by selecting the most appropriate option.

46.

47.

48.

Choose the word in which the prefix

dis — is incorrectly used :
(1) Disbelief

(2) Disobedience

(3) Discomfort

(4) Discussion

Complete the sentence using the correct

option :

George has travelled alot. He ............

speak four languages.

(1) may (2) can

(3) need (4) must not

Choose the correct option for the blank

given :

He found her blue ford escort in the car
park. ............ vehicle was locked and

the lights were off.
(1 A (2) An

(3) The (4) zero article

Level-3/3313

49.

50.

51.

52.

They rested when evening came.

The underlined group of words in the

above sentence is a/an :
(1) Adjective clause

(2) Noun clause
(3) Adverb clause

(4) Conjunction clause

Choose the word with the incorrect
suffix 'ship':

(1) Friendship (2) Membership
(3) Relationship (4) Argueship

Which of the options given below is the
correct indirect form of the given

sentence ?

He said, T have passed the examination'.

(1) He said that he had passed the

examination.
(2) He told I have passed.
(3) He said he must have passed the

examination.

(4) He informed us of his passing.

Choose the correct synonym of the

word 'contaminate’ :
(1) Defile (2) Rehabilitate
(3) Detach (4) Valid

P.T.O.



[A]

53.

54.

55.

56.

Choose the correct plural of the word
'species’' :

(1) Specis

(2) Species

(3) Speceis

(4) Specieses

Choose the correct preposition for the

blank given below :

She had great affection ............. her
grandchildren.

(1) within (2) into

(3) against 4) for

The old man was tired of walking.

The underlined word in the sentence is

used as a:

(1) Participle
(2) Gerund
(3) Noun

(4) Adverb

Choose the correct form of the verb :

Gymnastics ............... my favourite
sport.

(1) 1is (2) are

(3) were (4) do

[12]

57.

58.

59.

60.

Choose the correct option of the

underlined phrasal verb :

We must cut down expenses or we will

be getting into debt.

(1) Reduce in size or amount
(2) Appear

(3) Expose

(4) Rise to the surface

Choose the correct form of the verb

'play’ from the options below :

They since four

O'clock.

(play)

(1) have played
(2) will play
(3) play

(4) have been playing

Choose the correct past tense and past

participle of the verb 'Begin':
(1) Began, Begun
(2) Begun, Begun
(3) Begin, Began
(4) Begun, Began

Choose the correct synonym of the

word 'Pinnacle' :

(1) Peak (2) Pass

(3) Foothills (4) Deep

Level-3/3313



[13]

[A]

HET -1/ PART -1l
g 31e9g-1 / GENERAL STUDIES

[ AEITH% JRGdT, difthsh SATRMRIAT G |MT 319 U9 S1R¥sT< / QUANTITATIVE
APTITUDE, REASONING ABILITY AND G.K. & AWARENESS ]

3T : =it ged] & 37 @7 % [ qe98 ST [dweT g

Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

63.

64.

g " 10, 12, 15 qO1 18 &

fwiota 8 aren e ot & B
(1) 876 (2) 900
(3) 981 4) 1024

CHMUTARAND, BH P EIA
H AL ERIFND & 921 C 2, a B
3 E &1 91 95 & 7

(1) A (2) 4w
(3) dfd 4) 4

fepdl wibfcs w1 § 'CERTAIN' &I %e
= 'XVIGZRM!', 'SEQUENCE' & %z
& 'HVIFVMXV' &, @ 'MUNDANE'
9<% I FE BN

(1) NEMWZMX
(2) NFMWMZX
(3) NFMWZMV
(4) NFWMZMV

fr1 § 9§ ®9-91 =5 "DICTIONARY"
% e B JAN HXA §U FgT S S

Tl & 7
(1) RATION (2) DAIRY

(3) NATION (4) ACTION

Level-3/3313

61.

62.

63.

64.

The least perfect square number which
is exactly divisible by :

10, 12, 15 and 18
(2) 900
4) 1024

(1) 876
(3) 981
A is the father of C and D is the son of

B. E is the brother of A. If C is the sister
of D, how is B related to E ?

(1) Daughter
(3) Husband

(2) Brother-in-law

(4) Sister-in-law

In a certain code, 'CERTAIN' is coded
as 'XVIGZRM', 'SEQUENCE' is coded
as 'HVIJFVMXV',
'MUNDANE' be coded ?

then how would

(1) NEMWZMX
(2) NFMWMZX
(3) NFMWZMV
(4) NFWMZMV

Which of the following words cannot
be formed by using letters of word

"DICTIONARY" ?
(1) RATION  (2) DAIRY

(3) NATION (4) ACTION

P.T.O.



[A]

65.

66.

67.

68.

69.

70.

zri%P,Qamwrs‘,,Pam 2 S, T
HAE L T, QH I 2, A S S am
9 B 7

() R 2 Q

3) T 4) P

"BRIGHTER" 91 & STeidi & fhad U
fF SfIel oy & 2 § ?

1 4 (2) 2
3) 1 “4) 3
g Lot a q [N g aw

y 5 ’ 7 2y+x
g

1 3
1) — 2) =
()7 ()7

1

- 4 1
(3)3 4)

Uh AYX H, A 9 C & 9 & I

2:18 &% AdB % a9 FET @
3:27%| 3R S K aH T

1,573 @, @l Bl e & e 7

(1) 363 Fo (2) 484 %o
(3) 605 %o 4) 726 %o
U AEH AU G G 14 a9 g H F

g, & a4 dE, IEH AY A g H

AY 1 A BN Al g aaEe g
e 7

(1) 8dy (2) 10 a9
(3) 12 a9 4) 14 a9
S # e gl Hemr S i
10, 12, 28, 90, 360, 1850

1) 12 (2) 28

(3) 90 4) 360
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65.

66.

67.

68.

69.

70.

If P is brother of Q, R is father of P, S is
brother of T. T is daughter of Q, then
paternal uncle of S is :

() R 2) Q

3 T 4) P

How many pairs of the letters does the
word "BRIGHTER" contain in such that
the two letters of the pair have as many
letters between them in the word as
there are in the English alphabet ?

(H 4 (2) 2
3 1 “4) 3
If £=i, then value of (E_Zy—x}
y 5 2y+x
18 :
1 3
1) — 2) =
(D Z () p
1
3) 3 4 1

In a business, A and C invested amounts
in the ratio 2 : 1, whereas the ratio
between amounts invested by A and B
was 3 : 2. If their total profit is Rs. 1,573.
How much amount B will receive ?

(1) Rs. 363 (2) Rs. 484

(3) Rs. 605 (4) Rs. 726

A man is 14 years older than his son.
After two years, his age will be twice
the age of his son. The present age of
his son is :
(1) 8 years
3) 12 years

(2) 10 years
(4) 14 years

Find the wrong number in the series :
10, 12, 28, 90, 360, 1850

(1) 12 (2) 28

3) 90 4) 360



71.

72.

73.

74.

75.

28 TH % USh, 42 ¥ & Ui 9 21 H@®
3 USl @ Uk & IR WX 39 YBKR o
T S R s v iR § dad
% & UPR d 9uW d@er H U e | al
el gl #B I & U G dfRE
P GE BN

(1 9 2) 10

3) 11 4) 13

A % = B 8 g U B & = C A
et &, afe Rl g0 &1 C, 54 fee H
T H@ P, A B B o F 9@
F4T ?

(1) 9fe
(3) 12 Hee

(2) 18 e
4) 15 He

e TITER Wie & e Td AOeR
HAM 50% T 20% TG o g, o
g% & § [ I gfa B 7

€] 2)

3) “4)

N|—= W=
Nl Wl

10 @eX 39 | 8% UMl &, TEH b
g gy e e Sed 3w e |
Il 4% T& S 7

(1) 63X (2) 8dex
(3) 10dmex (4) 15 dex
PIiS sinA—cosA=0 g, ar
sin* A+cos* A & A BT
(1) 0 2) 1
1 3
3) 5 4 2
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71.

72.

73.

74.

75.

[A]

There are 28 mango trees, 42 apple trees
and 21 orange trees have to be planted in
rows such that each row contains the
same number of trees of one variety
only. The minimum number of rows in
which the above trees may be planted is :
1) 9 (2) 10

3) 11 4) 13

A is twice as fast as B and B is thrice as
fast as C. If some distance is covered by
C in 54 minutes, then in how much time
will B cover ?

(2) 18 minutes

(4) 15 minutes

(1) 9 minutes
(3) 12 minutes

If the length and breadth of a
rectangular plot be increased by 50%
and 20% respectively, then how many
times will its area be increased ?

€] 2)

3) “4)

Nl Wl

10 litres of milk contains 8% water. What
quantity of pure milk should be added to
this mixture to reduce this to 4% water ?

(1) 6 litres (2) 8 litres

(3) 10 litres (4) 15 litres

If sinA—cosA =0, then the value of
sin* A+cos* A is :

(H 0 2) 1

1 3
3) 5 “4) 2

P.T.O.



[A]

76.

77.

78.

79.

80.

U @, HivEd g @l ergyee %
g9¢ H 0 F & SEE 36 gl Hl
et #§ %an%ﬁaum%qfaaﬁ
5 fopddt ufg =ver & g @ s&dr g, o
(LSRR B 1 o o s L 1

(1) 10 FRHt/Amer (2) 12 fFHl/Aver

(3) 13 FRHt/Amer (4) 15 el /Aver

afs el FIe AT F 'pit dar na'
aad ‘GH =S &7, 'dar tok pa'
g “sresT oY gU” 'tim na tok'

e ‘@ g 271 SE AW Y % g
P I= © 7

(I) tim (2) tok
3) na (4) pit
e SR HOqE, IT-UREH &
‘ofye’ ‘Efeo-uiyEm’ @ SR FE

S a9 U AW ol T B, o
‘TAT H FA el S ?

(1) aferor (2) SIR-REH

3) TUC-TE 4) W

TF O 3Rl Hl G 4p3 H 984 S
W TF IR 3R & d& 13q7 T el

213X 13q7, 119 999 &, @ (q—p) F
qM B

1) 8 2) 9
(3) 7 4 11
fRu U e & dqia & T
foeel & wiaeres & fau e el @
el A qYE g
Q7% %3 % ](
(2) —+x=
(4) X+=-—

(1) x++=
3B) +-x=
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76.

77.

78.

79.

80.

A boat covers a certain distance

o1 o
downstream in — hour, while it comes
2

back in 1% hours. If the speed of the
stream be 5 kmph. What is the speed of
the boat in still water ?

(1) 10 kmph (2) 12 kmph

(3) 13 kmph (4) 15 kmph

If in a code language 'pit dar na' means
"you are good", 'dar tok pa' means
"good and bad", 'tim na tok' means
"they are bad". In the same language
which word stands for "they" ?

(1) tim (2) tok
(3) na (4) pit
If 'South-East' is called 'East’, North-
West is called 'West' 'South-West' is

called 'South' and so on, what will
'North' be called ?

(1) South
(3) North-East

(2) North-West
(4) North

A three digit number 4p3 is added to
984 to get a four digit number 13q7. If
13q7 is divisible by 11, then the value
of (q—p) will be :

() 8 ) 9
3) 7 @ 11
Select the correct combination of

mathematical signs to replace '*' signs
and to balance the given equation :

9% 7%2%3%10
) —+x=
@) x+=-

(1) X++=
3B) +-x=



81.

82.

83.

84.

85.

86.

Raarel, ™R 2018 & wREE @« #
o qeh S

(1) @1 Ea

(2) I g

(3) fa™ F=T Fred

(4) dmr i

frfafas & & F9-0 e afedr J
Tfed 78 el § ?

(1) & (2) FHHEEC

(3) 3= (4) g

& R Fd SE J 1857 & shifaemi A
ECET-e e Mo B oo M 2| B

(1) 9aq (2) Uzah

(3) T (4) ARA
STO-2011 & STEUR WX ERATm @
JET FERA X ©

(1) 75.6% (2) 65.9%

(3) 84.1% 4) 71.4%
FrfaRad § & b9 T & |1 R
TET U’ ST || T T © 7

() fed=d g=sT

(i) ITETS

(iii) TeTEI=

(iv) 9STT"

q& ST Y

(D @Tar Gv)  (2) 1) TAT (i)

(3) (iii) T (iv) (4) FAF (iv)

do FHRT M & I} | fr=fareag § 9

BT AT FFT § 7

(1) Jo “HRM M= 3 fda® & 9ed
el | wewayel G e |

(2) e oEd & o S
T § Sl @ U SEEe @
ST T o |

(3) I NaFl ¥ U Aded  Hawr
TRIaTe foha |

(4) 1952 ¥ 1956 T% di {9 99 &
T R©
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81.

82.

83.

84.

85.

86.

[A]
The player who won the Gold medal in
the Asian Games-2018 :
(1) Neha Goyal
(2) Bajrang Punia
(3) Vikas Krishan Yadav
(4) Seema Poonia

Which of the following rivulets does
not converge into Sahibi ?

(1) Dohan (2) Kasavati

(3) Indori (4) Drishadvati

The region in which Colonel Gerrard
led the counter attack against 1857
revolutionaries :

(1) Panipat (2) Rohtak

(3) Mewat (4) Narnaul

The male literacy rate of Haryana as per
the census-2011 is :

(1) 75.6% (2) 65.9%
3) 84.1% 4) 71.4%

With which of the following states, the
"Kalesar National Park" shares its
boundary ?

(i) Himachal Pradesh

(i) Uttrakhand

(iii) Rajasthan

(iv) Punjab

Choose the correct answer :

(1) @) & (iv) (2) (1) & (1)

3) (i) & (iv) (4) Only (iv)
Which of the following statements
about Pt. Neki Ram Sharma is not true ?
(1) Pt. Neki Ram Sharma played a vital
role in the Home Rule Movement
of Lokmanya Tilak.

He organized a public meeting of
Gandhiji at Bhiwani during Non-
cooperation Movement.
He published a Hindi
'Sandesh’ from Bhiwani.

He was a Rajya Sabha Member
from 1952 to 1956.

2

(3) Weekly

“4)

P.T.O.



[A]

87.

88.

89.

90.

‘JegrEl foare A AN & R |

Frretferiee semt oX fer=m iy

() Wh fagar & T F faaE 2]
gl,OOO U e feEr o
|

(b) U fauar wfeen & aiffie o T
TRE B9 § FHH B AR |

SEE ¥ & B-A1 #0978 /8 7
(1) Bad (a) T B |

(2) Fad (b) TE 2|

(3) Tl (a) AR T & (b) FE B}

(4) (a) T (b) AT T F |

frfofag & @ ®9-891 ®od ‘9qErr
T AT $ ST a7 & 7
(1) =T (2) o

(3) TR 4) @

Frefafad & & @e-a1 BEa g
geuis (dlo Silo g=go) T & ?

(1) STEs 2) T

(3) HEYXY 4) R

frfcfad @ gafed HifT

Gy ot

A. X ol% uRRRE () HeEs
H dfTead

B. X % Ufmed (i) R
B gy

C. 9G¥ % Ueded (i) 3%
W THeH

D. ges  G-FUT (iv) HE
ECm ATy

e e P
A B C D

(H @ @@ Gi)  Gv)

2 @ (@) @G) Gv)

3) Gv) @y Gi) @)

@) Gv) (@) @G) @

[18]

87.

88.

89.

90.

Consider the following statements about

the 'Mukhya Mantri Vivah Shagun

Yojana':

(a) For the marriage of the daughter of
a widow a grant of Rs. 51,000 is
provided.

(b) The income of such widow lady
must be less than one lac per annum.

Which of the above statements is/are
correct !

(1) Only (a) is correct.

(2) Only (b) is correct.

(3) Neither (a) nor (b) is correct.

(4) Both (a) and (b) are correct.

Which of the following crops does not
cover under the 'Bhavantar Bharpayee
Yojana' ?

(1) Sugarcane (2) Potato

(3) Tomato (4) Onion

Which of the following is a Painted
Grey Ware (PGW) site ?

(2) Balu

(3) Bhagawanpura (4) Bhirrana

Match the following :

(1) Banawali

Center District

A. Center of Excellence (i) Kurukshetra

for Vegetable

B. Center of Excellence (ii) Sirsa
for Flowers

C. Center of Excellence (iii) Jhajjar
for Fruits

D. Integrated Bee-keeping (iv) Karnal

Development Center

Choose the correct code :
A B C D

H ® @ G Gv)
@2 ® G @ Gv)
@) Gv) G G @)
@ Gv) @) () (3)

Level-3/3313
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[A]

AT - IV / PART = IV
MR {31 / PHYSICAL EDUCATION

@sr : =i god] % Gav @7 & [T @@ fEd [ g

Direction : Answer the following questions by selecting the most appropriate option.

91.

92.

93.

Aafas Oal § Ay &0 § 9 IR
Fel Afearelt # ArE g8 o ?

(1) 1896, Td=q

(2) 1900, A"

(3) 1904, Hegsq

(4) 1908, @

A B Mg w1 OIW A} e =M
<MY glEAIfaeT & 3 G o &
I forees

II. offegferad afias

1. Jo THo AT

IV. %9 3=

%< -

(1) LIL 1L, IV

() 1L, IV, L, 1II

(3) IV, IIL 11, I

4) IV, L IL 11

BISI 3fTd & 91T #1 & &9 8 :

(1) SYSAISTH, ST, 3o
(2) S, 3ferH, Eg3AISTH
(3) 3ferEH, gGIASTH, SopT
(4) TgENeTH, oW, S

Level-3/3313

91.

92.

93.

When & where the women participants

formally introduced to Olympic Games ?
(1) 1896, Athens

(2) 1900, Paris

(3) 1904, St. Louis

(4) 1908, London

Arrange the Grand Slam Tennis

Tournaments in the order they are

played using the codes given below :
. Wimbledon

I. Australian Open

III. U.S. Open

IV. French Open

Codes :

(1) LI, I, vV

2) 1L 1V, I, III

3) IV, ILIL I

“4) IV, LII I

The correct sequence of the parts of

small intestine is :

(1) Duodenum, Jejunum, Illeum
(2) Jejunum, Illeum, Duodenum,
(3) Ileum, Duodenum, Jejunum

(4) Duodenum, Illeum, Jejunum

P.T.O.
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94. RymE HEE SHF W 9 § ¢ 94. Sigmund Freud is considered to be the
father of :
(1) W1 & fHara & (1) Motivation theory
(2) gREHT % S & (2) Cathartic theory
(3) 7o EIEIT%T % e & (3) Instinct theory
(4) FfasYer % e @ (4) Psycho-analytic theory
95. ’@T’f % BN TAEDNH b SdEd Hl 95. The production of glycogen from
FEd § - glucose is termed as :
(1) ‘Eﬁqﬁﬁﬁﬁl’ﬂ (1) Glycogenesis
(2) ARSI (2) Glycolysis
(3) TATZDISHITRTE (3) Glycogenolysis
4) 3 | Fi5 T (4) None of these
96. ‘@R fET w1 TEY A b @RA 96. "Health Education is concerned with the
Hafad @R & 217 e &t ? health related behaviour of people."
Who said ?
(1) 98 g8 (1) Thomas Wood
(2) 9l (2) Sophie
(3) ¥ 3o o (3) RuthE.G.
(4) T R0 A (4) Anne R. Somers
97. BwIYA @'{H B F@ FH H Fared 97. Arrange the heptathlon events in order
FIfvTT of right sequence :
I 800 HeX L. 800 metres
II. Sifees o (W ‘?ﬂ%) II. Javelin throw
1. &= %T III. Long Jump
IV. 200 HieX IV. 200 metres
V. T %% V. Shot Put
VI & & VI. High Jump
VIL 100 HeX qrem 3\13 VII. 100 metres hurdles
e : Codes :
(H) ILIL IV, 1V, VL, VII () ILIL IV, 1LV, VL VII
(2) VILIV,VLIILIL V, I (2) VILIV,VLIILIL V, I
(3) VILV,VLIL IV, I, 1 (3) VILV,VLILIV, I, I
(4) VIL VLV, IV, I, 11, I (4) VIL VI, V, 1V, IIIL 11, I

Level-3/3313



98.

99.

100.

101.

102.

Tl e & A9 q RN ST S
g7

(1) it =7

(2) Yio o T

(3) oS dfell St

(4) S SEeq e

MG Fol TR 399§ ST
ST B

(1) <Eed diegH (TV)

(2) <ed =T dicgd (TLV)

(3) THE  URlERERs e

LN (EPOC)
(4) AEYE dAfedT™ (MV)

IqHIRE e & AArTEE e W T
2

(1) 59 9

(2) sgR @

(3) Sfer |

(4) 9 BT T

frg feurefe dW &1 aRE 99
% I ol 8 7

(1) feureEfeq - &t
(2) fRUEREleE - T
(3) feuresied - i
(4) T 4 13 T

AT Sies e & fiame S
g ?

(1) REml qers

(2) THo Hlo %

(3) & g9 YHEE @l

4) 4t daER
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98.

99.

100.

101.

102.

[A]

Who was named as Payyoli Express ?

(1) Dutee Chand

(2) P.T. Usha

(3) Anju Bobby George
(4) Neelam Jaswant Singh

Oxygen debt is
referred to the term :

(1) Tidal Volume (TV)
(2) Total Lung Volume (TLV)

(3) Excess  Post-exercise
Consumption (EPOC)

(4) Minute Ventilation (MV)

more commonly

Oxygen

The Psychomotor domain of physical
education is concerned with :

(1) Knowledge
(2) Attitudes
(3) Interests
(4) Motor skills

Which Hepatitis Virus spreads by direct
contact ?

(1) Hepatitis - B
(2) Hepatitis - A
(3) Hepatitis - C
(4) None of these

Who was the grandfather of Indian
Gymnastics movement ?

(1) Shivaji Maharaj

(2) H.C.Buck

(3) Shree Samarth Ramdas Swamee
(4) Shree Devdhar

P.T.O.



[A]

103.

104.

105.

106.

107.

fP AT | B9 faara o omERel &
T & e § 7

(1) d&pid & w1egq |

(2) e Bharetl an

(3) FHEIHIT &N

4) AES & T |

i (amq) enfaa 2 & ¢
() T4

(2) T |

(3) "R 4

(4) fogged oty 4

Uhg IR 1 HIIT fRAT ST ®
(1) SEA9HREY
(2) gz
(3) TEIHI
(4) FRIFAEHET

% GREX S 9l Siifad difeeeet d
qRT S & AR FHoll uiaaH J wewEyel
T (I B, e @

(1) I

(2) TSI SEWHERE (ADP)

(3) U ZE®Ehe (ATP)

(4) TR

g § T Al & qAar (JArdeen)
4 Ffafed d§ 8 wh &Y @1 Swm
fepam ST ®

(1) GaeHsh ™

(2) HEEAY SierErr

(3) I HRTeOT

4) &0 @ B T
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103.

104.

105.

106.

107.

By which of the means do we acquire
values belief and behaviour ?

(1) Culture

(2) Physical activities
(3) Socialization

(4) Heredity

Bile is secreted by :
(1) Kidney

(2) Pancreas

(3) Liver

(4) Pituitary gland

The Grip strength is measured by :
(1) Dynamometer

(2) Manuometer

(3) Spirometer

(4) Flexometer

A compound formed in all living cells

and play a key role in energy
transformations is known as :

(1) Granum

(2) Adenosine diphosphate (ADP)

(3) Adenosine triphosphate (ATP)

(4) Chlorophyll

In rehabilitation of sports injuries, one

of the following method is used :

(1) Corrective exercise
(2) Interval training
(3) Fartlek training

(4) None of these



108. G-I & GA-II & &9 Al i

109.

110.

AT AR BT W ge 3 oW @ @@

Tl - 1 QEl - 10
D) T e (i) 1991
(I1) ZTeErd 3fare (ii) 1961
(III) =g T2®ETZH (iii) 1985
TEgHe e

AV)TElT M @d T (iv) 2002
AT

% -

O dH D av)
(H ) G Gv) @
() @) @ @@  Gv)
3 © G G Gv)
@ Gv) @ G (i)

“QIR RSl T @A oWl &
N ofEds AFg H omd 2, 3 SR
farem et B 17 fhe @Rl ?

(1) o To X
(2) Hlo Hio HAd
(3) 3MRo el

(4) dio Tdo S

=T 1 fe Y

Gl - 1 @ - 1
(a) TANTE= HH (i) 1953
(b) g R @ URYE (i) 1954

(c) MR frem aem 9\Re (iii) 1948
F BT WHS T

(d) TEHER WEE &I (iv) 1960
@
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[A]

108. Match List-I with List-II and detect the

109.

110.

correct option using the codes given
below :

List - 1 List - IT
(I) Arjuna Award (1) 1991
(IT) Dronacharya Award (i1) 1961

(IIT) Dhyanchand  Lifetime (iii) 1985
Achievement Award

(IV)Rajeev Gandhi Khel (iv)2002
Ratna Award

Codes :

O adn dn av)
(1) Gy @) aGv) (@)
(2 @) G @  @Gv)
3 @® Gy @) (@Gv)
@ Gv) @ G (D)

"Physical Education is the sum of

change in the individual caused by

experiences centering motor activities."
Who said ?

(I) C. A.Bucher

(2) C.C.Cowell

(3) R. Cassidy

(4) C. L. Brownell

Match the following :
List - 1

Tara Chand Committee

List - 1I
(i) 1953
All India Council of Sports (ii) 1954

Central Advisory board of (iii) 1948
Physical Education and
Recreation

(@)
(b)
(©

(d) Rajkumari Sports (iv) 1960

Coaching Scheme

P.T.O.



[A]

111.

112.

113.

114.

% -

(@ () (© (@
(D (i) Gv) G @)
() i) Gv) @@ (i)
3 © G G Gv)
@ @) @ @@  Gv)

ERR EC IR RIIR S IR T IS L | G P
fermfor et 2
L 93 TN W e

1. EEreuRar

1L S

IV. SAfrehas srasiiadar
ARIE G N L

() LI 2) I, 1V
(3) IIL IV @ LIV

I H OUFH THN B [ -
frerfe e & 7

(1) fefm - & () foaf= - 2

Q) fef® -3 @) foafe - ¢

ST T ARy g O 9 8 °?
(1) et

(2) SRS

(3) TRt

(4) TYiieH

IRIRE e & Ao oTEaR & FEr
B T

I SR % YR

I I |G ar STeRm

1. sfceqet o qeant

IV. |HEIHT iy
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111.

112.

113.

114.

Code :
(@ () (© (@
() @) Gv) @) @)
(2 (@) Gv) @@ ()
3 ® @ G Gv)
@ @) @ @@ Gv)
Intramural  competition create in

students the sense of :

I.  Mass participation

I. Selfishness

III. Enmity

IV. Maximum involvement
Find the correct combination :
() L1 2) 1,1V
3) I, 1v @ L1V

Which Vitamin is responsible for blood
clotting ?

(1) Vitamin - C
(3) Vitamin - K

(2) Vitamin - E
(4) Vitamin - A

Trampoline is related to the sports :
(1) Swimming

(2) Gymnastic

(3) Fencing

(4) Athletic

Sociological foundation of Physical
Education discusses :

I.  Body type

II. Motor learning

III. Competition and cooperation

IV. Socialization process



115.

116.

117.

118.

119.

120.

&8l ™ g
(1) TIar 11
(2) I Iv
(3) 1den III
4) 17 IV

2020 HSFHA, Sl STATaE &l A&
aqe (Motto) FT 8 ?

(1) T Gl &l IRa

2) T g a

(3) a9 T, 99 g

@) fe@par

ARFFTT =TT &1 BT & -
(1) FEERT & BRI

(2) dT & FIO

(3) @1 g IrAEXT & BRI
(4) TENT & FROT

T% UFMHSG M 8l ©

(1) AiEuisEl a9 fEarel iR
(2) AT T BEEA WX STHR
(3) G SR 9wl SRR
(4) 9T WA qEr el R

189 TREH @@, 2018 § WRA T A
fepee gesh Sid 7

(1) 65 (2) 59
(3) 69 4) 67

IR BT AHIT FHal Al 2 -

(1) HrEs (2) ST

(3) feEsi (4) AT

AT ISH GEE H WO FE
a1 H &g o ?

(1) 1920 (2) 1922

(3) 1924 4) 1918
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115.

116.

117.

118.

119.

120.

[A]
Find the correct combination :
(1) IMand III
(2) MIand IV
(3) TandIII
(4) Tand IV

What is the motto of Summer 2020,
Tokyo Olympics ?

(1) Inspire a Generation

(2) A New World

(3) One World, One Dream

(4) Discover Tomorrow

Individual difference are due to :

(1) Environment Impact

(2) Heredity Impact

(3) Heredity and Environment Impact

(4) Social Impact

An ectomorph individual has a :
(1) Muscular and Athletic frame
(2) Thin and Slender frame

(3) Body beautiful image

(4) Bulky and stocky body

Total medals won by India in the 18th
Asian Games, 2018 :

(1) 65 (2) 59

3) 69 4) 67

The study of the cell is called :
(1) Cytology (2) Biology
(3) Histology (4) Myology

Indian Red Cross Society was
established in year :
(1) 1920 (2) 1922
(3) 1924 4) 1918
P.T.O.
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121.

122.

123.

124.

125.

126.

U¥EUE F UF TE & A P FLd o
(1) FEHHE  (2) aRSHH

(3) ®hifcEEE  (4) WiSARH

X | oo dR@ed & & @
Ued &% 9% & Gel HH qaRd

(1) ufegadd, s, =73, &, el
(2) =, 31, Tieaeta, omed, e
(3) 2, ofegeta, omed, e, w e
(4) i, fegeid, &S, Ble, ofed

O & g G P H A9 B
(1) 78 ®iT x 27 %l
(2) 78 ®IT X 36 HiT
(3) 78 WiT x 32 %I
(4) 80 HIT x 27 %I

yfcfskar 9 foha g2 & 7
(1) @ gei~ed &
(2) THE (HIeX) &

(3) IR &war

(4) ©d gHved e

g < 7 SHM @ 9 (3q) @ aae
F HaE B
(1) 70 a4t
(3) 7299

FHed FEMH AN HES I BN
FT PR 2

(1) O,

(2) Oyl &

(3) afees wfee @1 fei

(4) CO, &Y &1 Fe

(2) 76 9
4) 7539
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121.

122.

123.

124.

125.

126.

Lateral curvature of spin is called :
(1) Kyphosis (2) Lordosis
(3) Scoliosis (4) Spondalytes

Identify the route of oxygen transport in
the body from earlier to later :

(1) Alveole, Trachea, Blood, Heart, Artery
(2) Blood, Trachea, Alveole, Artery, Heart
(3) Trachea, Alveole, Artery, Heart, Blood
(4) Trachea, Alveole, Blood, Heart, Artery

Size of Tennis Court for doubles is :
(1) 78 feet x 27 feet
(2) 78 feet x 36 feet
(3) 78 feet x 32 feet
(4) 80 feet x 27 feet

Reaction time is a component of :
(1) Health related fitness

(2) Motor fitness

(3) Physical fitness

(4) Sports related fitness

The height of the playing surface in
Table-tennis from the floor is :
(I) 70 cm (2) 76 cm
(3) 72cm (4) 75cm

During strenuous exercise the major
reason for onset of fatigue is :

(1) O, debt

(2) Depletion of O,

(3) Lactic acid formation

(4) Increase of CO; level



[27]
127. =1 BRI gX A ©
(1) &I & S B
(2) @t # SHR &
(3) Ue FH R H
(4) @9 H IR B
128. = @1 ™ &< -
gl - 1 QEl - 1
() fe=t e (a) TTE &l
(i) fde e (b) xS
(iii) TERET T (c) g
(iv) &= I8 d) R
%< -

@® G () (Gv)
M © b @ @
@2 b © @ @
G D © b @
@ © @@ @ @b

129. “@R W@l ¥ orm fe=ir A Ui
a e fomar 2 7

(1) ST3eq

(2) dfFm 9 Fesi
(3) =y T

(4) TeHe Rl

130. =1 & @ &-d1 e I qaE & ?

(1) dRe
(2) Uiz
(3) THIR
(4) @
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127.

128.

129.

130.

[A]

Trataka eradicates :
(1) Heart disease
(2) Eye disease

(3) Stomach disease

(4) Lung disease

Match the following :

List - 1 List - II
(1) Hinge joint (a) Tarsal Bones
(i1) Pivot joint (b) Wrist

(iii) Gliding joint (c) Knee
(iv) Saddle joint (d) Head

Codes :

1 G ) (4v)
1H © b @ @
2 b © @ @
3 @ © O (@
@ © @ @ O

Who composed the famous song
"Sare Jahan Se Achchha Hindostan
Hamara" ?

(1) Jaidev

(2) Bankim Chandra Chatterjee
(3) Rabindranath Tagore

(4) Mohammad Igbal

Which of the following is a playing

surface ?

(1) Cybax
(2) Polymetric
(3) Teraflex
4) Coal

P.T.O.
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131.

132.

133.

134.

135.

136.

gy ol fGad &e 7= @ ?

1948
1948
1950
1950

(D 2154,
(2) 235,
(3) 255,
(4) 233,

ESRGICICES ICIRSIS | ERC I
(1) 200-250 mm  (2) 240-280 mm
(3) 280-300 mm (4) 300-320 mm

g TRER H HE-A A 78
ST & 7
(1) gdarad

() g
st e Recel efesdl ¥ 7

(2) gsTE
(4) TSR

(1) 40
(3) 60

(2) 80
4) 120

frfafad & @ S9-91 Peds’t & &
Ted dfas faem e &1 'R T8
g7

(1) Jd TR &R

(2) TEREE &R

(3) UF TR &X

(4) R-TRETE &R

fpa Hfp-omee gsfa H gl dH @
AT TR F FER e 2 7

(1) IS Faia

(2) SH-3TSe-FH TRT JET

(3) S HAlH-3MST T&idl

(4) T HAlh-3A3E T&id
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131.

132.

133.

134.

135.

136.

When was the first Olympic day
celebrated ?

(1) 21stJune, 1948
(2) 23rd June, 1948
(3) 25th June, 1950
(4) 23rd June, 1950

Length of Baton in Relay Race is :
(1) 200-250 mm (2) 240-280 mm
(3) 280-300 mm (4) 300-320 mm

Which asana is not done while doing
Surya Namaskara ?

(1) Parvatasana

(3) Dhanurasana (4) Padhastasana

(2) Bhujangasana

Number of bones in the axial skeleton
is:

(1) 40
(3) 60

(2) 80
4) 120

Out of following which is not the stage
Kohlberg Moral
Development theory ?

given by in his
(1) Pre conventional stage

(2) Conventional stage

(3) Post conventional stage

(4) Unconventional stage

In which Knock-out type tournament,
loser team play again ?

(1) Bagnall-Wild type tournament
(2) Knock-out-cum league tournament
(3) Double knock-out type tournament

(4) Single knock-out type tournament



137.

138.

139.

140.

141.

142.

143.

144.

€98 Y UGN FHe IR g3 ot 7
(1) 1888 (2) 1890
(3) 1900 (4) 1904

A A Focelt gftafrd A ¥ 7
1 s

3) 3

AR JSfveT | & O &9 g
off ?

2) 2
4) 6

(1) 1932 (2) 1934
(3) 1937 (4) 1940
HIEF F T ©

(1) JEER 9 (2) TOTEM 9
(3) &9 9 (4) @EIY 9
WU gHE & Y E

(1) gabarsll & (2) HRi 4
3) AEIT & (4) Udlfew |

AT BN TH-A19, TR & [ TehT
T EI YT ?

(1) e (Rafe) @

(2) S P

(3) wiEpicen FH
(4) G ud qEEE B

‘BRE S’ IE IUANT BAT A B
(1) 35« <fm@ o

(2) weffed #

(3) <fE H

(4) bt |

a9 ORI AT & sg-f ®: R
Fed ¢ ?

(1) g
(3) IO

(2) BT
(4) TEH
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137.

138.

139.

140.

141.

142.

143.

144.

[A]

Durand Cup tournament was started in :
(1) 1888 (2) 1890
(3) 1900 (4) 1904

How many Sudhi Kiryas are there in

Yoga ?
(1) 5 2) 2
3 3 4) 6

Badminton Association of India was
formed in :

(1) 1932 (2) 1934

(3) 1937 (4) 1940
Kumbhaka is related to :

(1) Pratyahara (2) Pranayama
(3) Dhyana (4) Samadhi

Swapna Barman is related to :
(1) Boxing (2) Wrestling
(3) Weightlifting (4) Athletic

Care and nurture of the young, which
type of function of family it is :

(1) Civil function

(2) Biological function

(3) Cultural function

(4) Safety and protection function

The term used 'Fast break' in :
(1) Table Tennis

(2) Badminton

(3) Tennis

(4) Basketball

Blue print of the team competition plan
is called :
(1) Tactics
(3) Strategy

(2) Skill
(4) Technique

P.T.O.
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145.

146.

147.

148.

149.

150.

dlash U Headiad gha & fa e
9§ HE-9 AEH FAl B I H
g7

(1) THETHE

(2) U TaSH

(3) e =Hd

4) B

TR e B -

(1) 9= (2) Re=ma
(3) T (4) i
400 Hiex Tm e H ooifem Tt @
U 3@ & gl e

(1) 359X (2) 40 HeX
(3) 459X (4) 429X

(1) 9 (2) TH e B
(3) TH Raarel @ (4) faeafaemag &t

IRIRE = & @ g
L ot & Sgad

II. SOHR | Fead

I1I. AT 1 & GHEAT
IV. TE & § Fead

el g g

(1) L1 2) L1

3) LIV @) 1,1V
areEra § GEAT @ drs B
(1) 1.75 89X (2) 1.80 HieX
(3) 1.85HX (4) 1.90 HieX
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145.

146.

147.

148.

149.

150.

For increasing endurance, which drug is
widely used by athletes ?

(1) Amphetamines
(2) Anabolic steroids
(3) Beta Blockers
(4) Caffeine

Ligament injury is :
(1) Sprain
(3) Abrasion

(2) Strain
(4) Contusion

The distance between last hurdle and
finishing line in 400 metres hurdles race is :
(1) 35 mts (2) 40 mts
(3) 45 mts (4) 42 mts

Who is the recipient of Maulana Abul
Kalam Azad (MAKA) Trophy ?

(1) State (2) A Coach

(3) A Player (4) University

Benefits of physical exercises are :
I.  Increased energy

II. Increased depression

1.
IV.
Find the correct combination :
(1) L 1o 2 LI
3 LIV 4 ILIV

Decreased risk of heart attack

Increased stress level

Length of the "Antenna’ in Volleyball is :
(1) 1.75m (2) 1.80m
3) 1.85m 4) 1.90m
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6.

Ul b SR, SR UFh A HUiRd @™ Bl dret /N
dfd wrge 9 ¥ giaar AT g, o fs A e

TR
O @ ® @

6. Answers to questions in answer sheet are to be given by

darkening complete circle using Black/Blue ball point pen
as shown below :

© @& © ®

The answer will be treated wrong, if it is marked, as given below :

O ® & >

If you fill more than one circle it will be treated as a wrong
answer.

ERT T T3 SR Tad AT SO, Ife SR dTel
@ﬁaﬁﬁﬂwﬁmﬁ%

O R & @
I T A ST Wl Bl MR T & Al 3BT SR Tod
HET ST |

10.

11. U=

12.

13.

14.

15.

16.

17.
18.

19.

20.

. % B W—gﬁﬂrbl # 39 o & forg & E @relt SFE W & &Y | (Rough work should be done only in the space

provided in the Question Booklet for the same.)

. T IR Bad OMR TR U6 R 81 3ifdhd &Y | 30 IR &IHYdd 2Afhd T | IR g =g 29d Joidh (ABE Fogs) Bl

T g ® (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener
(white fluid) is not allowed for changing answers.)

LIS T @ forg R U AR Reedt 3 9 Sfd fdwen & folg OMR STR 99@ &R &ad Ud gd & & g4 aRE el / Blet

dfcl Wrse 9 9 W TP IR IR 3ifhd P B 9IS S ISl T8l S Fbal B | (Out of the four alternatives for each
question, only one circle for the most appropriate answer is to be darkened completely with Blue/Black Ball Point Pen on the
OMR Answer Sheet. The answer once marked is not allowed to be changed.)

el gHARad o {6 59 SR 45d B Aiel 9 WY Td I R BIg 31 e 7 M | 3ngedi =1 el SR U3d
# feiRa v @ srfaRad e=u 7 foRd | (The candidates should ensure that the Answer Sheet is not folded. Do not make
any stray marks on the Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer
Sheet.)

—gRAPT T IR TS HT SAFYED JANT By, Fifd B aRRefT # (ge—gRaer wd SR w96 & wAie 3 e
B! RAT BT BredR) T YT YRAST T ST T8l HYATs WG | (Handle the Question Booklet and Answer Sheet with
care, as under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of
Question Booklet will not be provided.)

TA—YRATHT /IR U5F H f3Q T HHIG BT el el da F gwdeR aic H fod | (The candidates will write the correct

Number as given in the Question Booklet/Answer Sheet in the Signature Chart.)

gl B URIET B/ BeT H YA UF AR UgAM U & SfIRE Bl THR B qreadEd, gfad a1 sxifoiad drTel 3
Ufedf, SR, AaIgd WH, Sdgiid UG AT B 3 UBR B GEEH DI of S IT STANT HRA DI AT 8T © |
(Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic
device or any other material except the Admit Card and Identity Card inside the examination hall/room.)

TfId gRT 8 oM W YIS gl 3T gawr dre ([ o) 3R uga™ ux Wi | (Each candidate must show on
demand his/her Admit Card (Roll No.) and identity card to the Invigilator.)

P efetd AT Tded B A SH‘T% P 77 PIE el JmuFT I |7 B | (No candidate, without special permission of

the Superintendent or Invigilator, should leave his/her seat.)

PRIRT GAdETH BT AU IR UAB QU 1 v AR A€ R SEART BIER [Py 97 angefi uden g 7€ v | Ay
el el 1 A IR EWER A1 W BWER el by A1 g AMI SN fh S99 SR U3d 8] dlerl & AR I8
Tfad | & AT AT STYT | OMR SR U3d § FuiRa o w | anafdiat grr 9 w19 & o &1 feme
wrrmmélw@m%wﬁwwmmmwmﬁﬁw@ﬁwﬁﬁwﬁmmﬁwﬁaﬁ
qEAT 7A@ E|§T‘f AITTH §8d ®H | (The candidates should not leave the Examination Hall without handing over
their Answer Sheet to the Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the
Signature Chart second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case.
All candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified which should
be properly inked i.e. they should not be either over inked or dried in nature.)

golagid / gxcarferd URderd &1 SUANT afSid & | (Use of Electronic/Manual Calculator is prohibited.)
et Bt # MmeRvr & forg, apwneff fyarforast # & 13 ufhan / feen—fder g 98 & it el vd fftgst & Ry s < |
31‘3’%1?[ R e IOl e o ) B Re T IR IO ot R ol 1 o | AR 8FTT| (The candidates are governed by

Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in
the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.)

A BT H U IJDT AR SR Y=Ib BT I W AT T BN | (No part of the Question Booklet and Answer Sheet shall
be detached under any circumstances.)

Wl T 8 W, gl Fe /B Bled W Yd SR UFG HE-UUdAS BT @A WU | gl o W s
W—W P o ST A& €| (On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator
in the Room/Hall. The candidates are allowed to take away this Question Booklet with them.)
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